CHAPTER 6: 
ELASTICITY AND DEMAND
I.
 DEMAND ELASTICITY

A. Demand Elasticity:  Referred to as price elasticity of demand or own-price elasticity.
B. Defined: Measures consumer responsiveness to a change in price, ceteris parabus.
C.  Coefficient of elasticity calculated

1) Arc or mid-point formula
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2) Point elasticity


[image: image2.wmf]dQP

E 

dPQ

=´


3)  Point Elasticity when demand is: 


a. Q = a + bP + cM + dPr

   Assume M and Pr take on specific values 
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where A is the intercept on the vertical 

 
axis.

D. Example: Demand for Catamount Basketball tickets
QD = 7000 - 1000P

P                           Q

Total Revenue
7
        0

    
              0

6
  1,000

  

  6,000

5
  2,000



10,000

4
  3,000

           12,000

3
  4,000

 

12,000

2
  5,000



10,000

1
  6,000

  

  6,000

0
  7,000

         

   0

E. Different Elasticities along a linear demand curve

1) Elastic 




|E| > 1

2) Unitary elastic 




|E| = 1

3) Inelastic 




|E| < 1

F. Perfectly Elastic and Perfectly Inelastic
    Demand
1) Perfectly Elastic  - Firm A
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a) E = α
b) Consumers are totally sensitive to a change in price.

c) Examples
2) Perfectly Inelastic
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a) E = 0

b) Demand is totally unresponsive to a change in price

c) Examples
G.  Relationship between Total Revenue and
     Elasticity
1) Elastic Demand
a) Price rises will cause TR to decline

b) Price drops will cause TR to increase

2)  Unitary Elastic
Price changes will not affect total revenue
3) Inelastic Demand
a) Price rises will cause TR to increase
b) Price drops will cause TR to drop

H.  Factors that affect own-price elasticity
1. Availability of substitutes 

2. Percent of consumers budget 
(Big ticket/Little Ticket)
3. Product durability
Durable vs. Non-durable goods
4. Time period of adjustment
      Long Run/Short Run

I. Empirical estimates
1. Illustration 6.2
J. Rank elasticities of Demand for Miller-Lite Beer, all Beer and all alcohol from highest to lowest.
If E = 2.5 for Big Macs, what will happen to QD if there is a 10% increase in price? 

II. INCOME ELASTICITY

A. Definition: Measure consumer responsiveness to change in income, ceteris paribus.
A.        Em = 
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B.  Formula: Em =  
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C. Example: Figure 6.6


Panel A: Normal goods



Em =  
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       Interpret Co-efficient 

Panel B: Inferior goods



Em =  
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      Interpret Co-efficient 
D. Formula Point


Q = a + bP + cM + dPr
Em = 
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E. Empirical estimates:
1) Illustration 6.2
III. CROSS PRICE ELASTICITY
A.  Measures the responsiveness of the quantity demanded of one good to a change in the price of another good, ceteris parabus.



EXR = 
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B.  Formula: Arc



 EXR = 
[image: image13.wmf]r

Average P

ΔQ

ΔPrAverage Q

´


C.  Interpretation of different signs
2) EXR (-)  Complements

3) EXR (+) Substitutes

4) EXR (0) Independent
F. Point Formula 


Q = a + bP + cM + dPr
EXR = 
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E. Example:
     Q = 49,800 – 750P + 0.85M + 400PL – 625 Pp


Estimate Q when: 

P = $ 75, M = $ 50,000, PL = $ 45, Pp = $ 15 


Q = 44,765
1) Demand for football tickets and price for soccer tickets

EXL =
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  Interpret

2) Demand for football tickets and price of parking

EXP = 
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C.  Empirical results: `Illustration 6.2
IV. MARGINAL REVENUES, DEMAND AND ELASTICITY
A. MR = ∆TR 

                  ∆Q
B. Intuitive Explanation of relationship between MR, Demand and Elasticity (Figure 3.7) 
      1. Elastic |E| > 1, TR is increasing, MR > 0

      2. Unitary elastic |E| = 1, TR is max, MR = 0
      3. Inelastic |E| < 1, TR is decreasing, MR < 0
C. Example: Figure 6.5

D. Mathematical Proof as to why MR is twice as

steep as demand.


1. P = a + bQ     (Inverse demand function)

         where: a > 0, b < 0
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Chapter 6 Assignment

Technical Problems: 4, 7, 8, 15, 16
Applied Problems: 2, 3, 7
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